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Note : First 15 minutes are allotted for the candidates to read the question

paper. '
Pw: i) ot wm afed €

ii) NTEHAER A Iod 6 gy aifea @t g $ifg |
iii) S W & Puffa 3w 37% aug@ sifea €
Instructions :
i) All questions are compulsory.
ii) Illustrate your answers with labelled diagrams, wherever necessary.

iii) Marks allotted to each question are mentioned against it.

(wReda v )

( Multiple Choice Type Questions )
1. ol faereq gt gt Iwe-gigr | fafa
%) WH-T AR FTAotHoto F Iufa T e R 7
i) urfA i) R
i) @A iv) TaTRA 1
W) fduge 3 3 wam 4 fead Redad agort | afdfem faan 2
) 7 i) 8
i) 9 iv) 10 !
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m) maﬁﬂmmﬂnmmﬁﬁmwg 7
i) g seafadd i) gfw
iii)  faeia= iv) mnmur 1
¥) e g $ fem am & i At @ € ¢
) oo - i) S
iii)  TETOUT iv) SN 1
1. Choose the correct option and write in your answer-book :
a) Which nitrogenous base is not present in D.N.A, ?
i) Thymine i) Uracil
ilij Adenine iv) . Guanine 1

b) How many contrasting characters are included by Mendel in his

experiment ?

i)y 7 i) 8

i) 9 wv) 10 1
c) Sickle cell anaemia is an example of which mutation '-"

i) Point mutation ity Euploidy

iiij Deletion iv) Translocation 1
d) Pollen grains are formed in which organ of flower ?

i} Microsporangium ii) Gynoecium

i) Megasporangium iv) Ovary l
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( 3t oy Iwira v )
( Very Short Answer Type Questions )

) Tafan I @1 g fee A F Fro da R ? 1
@) Potflodmo gHaer &1 U w9 fafaq | _ | I
m) m@ﬁﬁﬂ?ﬁﬁﬁm%ﬁﬂl | !
u) TS % A aneis <ot fRE JeR & W 3] 39T & ? 1
%) mﬂf&:ﬁ‘ﬁﬁﬁaaﬁmﬁﬁﬁﬁm%@ﬁmmmmmﬁ?! h' 1
a) Which organism is responsible for the spreéd of malaria discase ?

b) Write down the full form of P.C.R.
c) Write down the name of any one transgenic animal.

d) Coloured attractive corolla of flower is' suitable for which typc of

pollination ? 1

What is the term used for green plants in ecosystem terminology ? 1

(erg a1 )
( Short Answer Type Questions-I )

3. %) agued @ vfonfea KR | 2
g) fedl & feftaa 31 & am el | 1+ 1
‘n}/ﬁa{aéﬁmﬂmﬁﬁwﬂﬁaﬁmn : | 2

1
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1)

%)

b)

dj

T o Ry § Q) A T@TE | b
TREEm ¥ 2l B @Y | o
Define decomposition. g

Write down the names of any two fermented beverages. I+

Wrnite a note on test tube baby programme. 2
Give two differences between homozygous and heterozygous. 1 +1
Write two functions of Ribosomes. 1+1
(g IT@aWE-11 )
{ Short Answer Type Questions-II )
T R T G feooft fafaw | 3
Hiher & o o+t fux wfgw zofsa | 1+1+1
qey form 1 d17 wes afRel & Tm faftaw | L+1+)
Wi ITehal U fidias Iearewar o s fflge | 1% + 1%
Write a short note on polyembryony. 3
Draw the three organs of Gynoecium with diagrams. 1+1+1
Write down the names of three accessory glands of male sex organ.
1+1+1

Differentiate  between primary productivity and sccondan

productivity. 172+ 100
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6.

a)

-

@n

%) wihfas ar @ frdl u g 4 qusse |

@) viaera vagy & sl @ aagigd |

) 3gell fafm @ uw Rull faf |

1) sife afa e w feadht fafee |

a) Explain natural selection with an example.
b) Explain the functions of restriction enzymc.
c) Write a note on adaptive radiation.

d) Comment on Parthenocarpic fruits.
) awEr fawm F IgEw afga aaaE |

@) U] FRoTHoTo W Tk dftqw feuroft ferftan |

1) sirfameg g B T IqE wika gronfia Fif |

e
&

a) Define the divergent evolution with example.

b) Write a short note on t-RNA.

Define the opioid drugs with an example.

d) Draw different trophic levels in an ecosystem with line diagram.

11000/11173
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(farga sia wym )
( Long Answer Type Questions )

7. R ¥ e & e w0 o e R |

AUl

qifera sfaen s P st Freawr 3 ary ok ST |

7. Write an essay on the importance of Biotechnology in Agriculture.

OR

Describe the polymerase chain reaction with line diagram.

8. wmI® Tg= # wfrg avix Hfvw |

FHUA

TR 8 7 F F HRY w6 I9ER F R @ i3 iR |

8. Describe Biogas plant with diagram.

OR

o]

w

w

w

What is cancer ? Describe the causes and treatment of cancer in detail.

9. mqaﬁwam@ﬁmﬁ‘-rﬁ;m
JrerET

wEendl Td QAT W1 IgE i samen fifm |
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g. Write an essay on human evolution.

OR

Explain linkage and recombination with example. 2Va + 2Ya

348(GJ) - 1,98,000
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